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QUESTION 1

A company needs to replicate a database from its main office to a disaster recovery site 3,000 km away with a five
minute recovery point objective.

Which type of replication should the company use to replicate the data?
A. Synchronous

B. Asynchronous

C. Multi-synchronous

D. Local replication

Correct Answer: B

QUESTION 2

You have been asked to implement a remote data replication scheme. The current data center is mostly constructed of
FC components and the corporation is highly invested in the technology. The remote data center needs a synchronous
replication solution.

What will accomplish this goal?

A.iSCslI

B. NAS

C. FCIP

D. FCoE

Correct Answer: C

QUESTION 3

You have twelve 500 GB drives and you need to provide two LUNs using RAID 6 protection for a customer.
What will be the size of each LUN?

A.15TB

B.1.75TB

C.27TB

D.2.25TB

Correct Answer: C
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QUESTION 4

Click the Exhibit button.

stat wtix 2493559995 4-byte words transmitted

stat wrx 11910192 j-byte words received

stat ftx 75073402 Frames transmitted

stat frx S008398 Frames received

stat o2 frx 0 Class Z frames received

stat =23 frx S008117 Class 3 frames received

stet_le_rx 164 Link control frames received

stat mc rx o Multicast frames received

stat_me_to o Multicast timeouts

STAat_mo_TX 0 Multicast frames transmitted

er enz in o Encoding errors inside of frames
L N S Frames with CRC errors ... . . . ..
er_trunc 1] Frames shorter than minim

er_ toolong 0 Frames longer than maximum

er bad esof L] Frames with bad end-of-framse
pr:-nh:ﬂuh 3073 Enaoding srreor outside of frames
er_bad_os 14811 Invalid ordered set

er rx c3 timeout 0 Class 3 receive frames discarded due to
timeout

er_tx ¢3 timeout 0 Class 3 transmit frames discarded due to
timeout

er c3 dest unreach 0 Class 3 frames discarded due to destination
unreazhable

er_other_discard 644 Other discards

=1

Referring to the exhibit, which three switch indicators will help you to determine the stability of a link? (Choose three.)
A. er_crc

B. er_toolong

C.er_enc_in

D. er_bad_eof

E. er_trunk

Correct Answer: ACD

QUESTION 5

A colleague asks you if the added cost of using encrypting tape drives and sending the tapes off- site is warranted,
since your IT organization already has large security investments such as firewalls and database table encryption.

What is your response?

A. The correct firewall rule set would make encrypted tape drives obsolete, but there has not always been strong
confidence in the firewall administrators.
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B. Encrypted database tables only protect data against inappropriate access by super users such as database or server
administrators abusing root privileges.

C. Encrypt tape drives as part of a defense in depth strategy to ensure that one security mechanism being compromised
does not expose all information to a malicious user.

D. The existing firewalls and database table encryption do not replace encrypted tape drives, but implementing an
intrusion protection system (IPS) will make tape encryption obsolete.

Correct Answer: C
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